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Question Id : 68634019140 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
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Question Numbers : (1 to 5)

Question Label : Comprehension
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Question Number : 1 Question Id : 68634019141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634075601. 1
68634075602. 2
68634075603. 3
68634075604. 4

Question Number : 2 Question Id : 68634019142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 68634019143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634075610. 2
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Question Number : 4 Question Id : 68634019144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 68634019145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Id : 68634019140 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
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Question Number : 1 Question Id : 68634019141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 68634019142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 68634019143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 68634019144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 68634019145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Sub-Section Number : 2
Sub-Section Id : 686340633
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634019146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 68634019146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634019147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634019147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 68634019148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 68634019148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



18 WY 7 81 & oy Ue Wss g
1. P

REC]

3. ffg

1. ey

Options :

68634075629. 1
68634075630. 2
68634075631. 3
68634075632. 4

| )

Question Number : 9 Question Id : 68634019149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1% I gl 11 BT i Sifeg
1@< | 9o

A [fART I UEIEE

B. [a4 1. [gdieT

C. [dde 1L [k

D. [dog=dl IV. [3RUg

=i fu 70 fdaredl § ¥ Ool 3R &1 90+ DI -

1. A-IV. B-I. C-II, D-III

|

AL B-IV. C-1. D-11
3. A-I1, B-I1, C-IV. D-I
4. A-I11, B-11. C-I. D-IV

Options :

68634075633. 1
68634075634. 2
68634075635. 3
68634075636. 4

Question Number : 9 Question Id : 68634019149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634019150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 68634019150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrfefEa o 9 o df deife 82
1. 5cl R 0P (S5

 Bad el

AR D1 a9t H {7

[

L]

e

Options :

68634075637. 1
68634075638. 2
68634075639. 3
68634075640. 4

Question Number : 11 Question Id : 68634019151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 68634019151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634019152 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634019152 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afemft arpieT 3R Aifea & 1Y 3de S8R T34 & IWId (59 sy § 9 81 T
1. 3T

A USs

3. YT

[ ]

4. ORTG

Options :

68634075645. 1
68634075646. 2
68634075647. 3
68634075648. 4

Question Number : 13 Question Id : 68634019153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrfaEd Isal § 9 2022 T <=1 &1 AqH SRISIRT &2 aTaT Ig SH 91 87
1. FIREUS
sifsan

s
4. BUNGTE

[

L]

Options :
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Question Number : 13 Question Id : 68634019153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634019154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634019154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634019155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634019155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634019156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634019156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634019157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634019157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634019158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634019158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TaH &0 P 3R =a W8T U1l 7 i . 9o & 91 a8 gife- G311 3 f 1l 9o & €< 98 fhe qife gar
3R 4 fo5 . T a1 61| S9P 915 a6 919 597 3R 2 [ 1. a1 U 3R aaf 916 o= I 060 a8 0
ot =1 9% oA g A fra R

1. 11 f& AT,
17 fe
3. 13 fo At
4,15 fo A1,

Options :

68634075669. 1
68634075670. 2
68634075671. 3
68634075672. 4

[ ]

Question Number : 19 Question Id : 68634019159 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634019159 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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I BT XYZ B! A 3T 5 9iiNd PR &1 g1 @lall, HR-[GR BT FiH-] ! SRl o gl
SoiEare 7 ERE uRRUTTE! &1 des RIerd & SR g $1 90T §gH S A &1

BIaTe! Hisha :
(i) PR-aR® B YR 1S & Teo 99 & U Gich71 Twll &1 e 3R &1 - U2 &1 e agHi diet|
(ii) PR fdR® D1 BRI PI 3HH-a15 gfb71 LT ST M8
1. ad (i) 8
2. ad (ii) BN
3.9 ) AR T S i) B
4. S, (1) 3R (i) BN
Options :
68634075677. 1
68634075678. 2

68634075679. 3
68634075680. 4

Question Number : 20 Question Id : 68634019160 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



US gaqed & 916 off fhar gy fEu 770 € A1 5 gaden o forar 741 81 ¥reg 9 81 99000 & YR TX
fofa iifoTe 1o 14 1 foran gy e gul ¢ ¥ [GeR 3 IR S S

PYA :

I BT XYZ B! A 3T 5 9iiNd PR &1 g1 @lall, HR-[GR BT FiH-] ! SRl o gl
SoiEare 7 ERE uRRUTTE! &1 des RIerd & SR g $1 90T §gH S A &1

PriaTe! Wi :
(i) PR-TGR® B YR 118 1 Teol e & faw g7 o9l @1 T oIk B - el o e ggri 9|
(ii) PR fdR® D1 BRI PI 3HH-a15 gfb71 LT ST M8

1. ad (i) 8

2. ad (ii) BN

3.9 ) AR T S i) B

4. S, (1) 3R (i) BN

Options :

68634075677. 1
68634075678. 2
68634075679. 3
68634075680. 4

Question Number : 21 Question Id : 68634019161 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

m ¥ R GIH AT 5 HHNT YIS YUITD! BT A 0 81 (m+2) I L& G aTel 6 HANTT U-TeD qorid]
1 SAId G

1. (20+5)2

4, (2nt9)/2

Options :

68634075681. 1
68634075682. 2
68634075683. 3
68634075684. 4

Question Number : 21 Question Id : 68634019161 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

m ¥ R GIH AT 5 HHNT YIS YUITD! BT A 0 81 (m+2) I L& G aTel 6 HANTT U-TeD qorid]
1 SAId G

1. (20+5)2

|

.nt+2
3.n+3
4. (2n+9)/2

Options :

68634075681. 1
68634075682. 2
68634075683. 3
68634075684. 4

Question Number : 22 Question Id : 68634019162 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'ORIENTAL' g & 3&R] I U fra Wsg €910 off Iad & o R g0 fawy @i & g1 8

1. 576

| )

. 578
3. 580

4. 678

Options :

68634075685.
68634075686.
68634075687.
68634075688.

AW N =

Question Number : 22 Question Id : 68634019162 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'ORIENTAL' g & 3&R] I U fra Wsg €910 off Iad & o R g0 fawy @i & g1 8

1. 576

vl
[
|
sl



Options :

68634075685. 1
68634075686. 2
68634075687. 3
68634075688. 4

Question Number : 23 Question Id : 68634019163 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST 7 RN ¥ 50,000 94 25 ST 2022 BT 12% & alitie, ATHRUN &4 IR 3R U1 18 RyamaR 2022
DI A = HGAT FYR BT A R [G01 71 S41S -1 SR

1.22.200

[
AH
kJ
[
IJ'
o)

Options :

68634075689. 1
68634075690. 2
68634075691. 3
68634075692. 4

Question Number : 23 Question Id : 68634019163 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST 7 RN ¥ 50,000 94 25 ST 2022 BT 12% & alitie, ATHRUN &4 IR 3R U1 18 RyamaR 2022
DI A = HGAT FYR BT A R [G01 71 S41S -1 SR

1.22.200

Options :

68634075689. 1
68634075690. 2
68634075691. 3
68634075692. 4

Question Number : 24 Question Id : 68634019164 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



freferaa Swemmadf @ ved ®H | T -

onwp

=i fau U faswedl § U el 3R &1 994 SHifoid:

1.DA B.C,
2A.D.B.C
3.B.I3 A, C
4.C.B.D. A

Options :

68634075693. 1

68634075694. 2

68634075695. 3
68634075696. 4

Question Number : 24 Question Id : 68634019164 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

freferaa Swemmadf @ ved ®H | T -

oOaow

=i fau U faswedl § U el 3R &1 994 SHifoid:

1.DA B.C,
2A.D.B.C
3.B.I3 A, C
4.C.B.D. A

Options :

68634075693. 1

68634075694. 2

68634075695. 3
68634075696. 4



Question Number : 25 Question Id : 68634019165 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o T & ST & a1 B 3T 3:4:5 31 3 T g ofR Ul & My 9 1R € e dF s
HH: 4:1, 3:1 3R 52 DI | S 141 UEH & HH0T P U 918 U H STa [Sar odT 8| 91 U 8 g9 &R
Ot & &1 BT 3T 8T -

1.4:1

2.151:48

3.

fa—,

5

=1
L

3
4. 5:2

Options :

68634075697. 1
68634075698. 2
68634075699. 3
68634075700. 4

Question Number : 25 Question Id : 68634019165 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

< T @ ST & &1 & 3T 3:4:5 31 3 T g ofR Ul & Mg 9 1R € e dte s
HH: 4:1, 3:1 3R 52 DI | S 141 UEH & HH0T P U 918 U H STa [Sar odT 8| 91 U 8 g9 &R
Ot & &1 BT 3T 8T -

1.4:1

2.151:48

3.

[
L]
~]
L
Lid

4.

b
(]

Options :

68634075697. 1
68634075698. 2
68634075699. 3
68634075700. 4

Part B: Applied Geography and Geoinformatics

Section Id : 686340380
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75

Number of Questions to be attempted : 75



Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340634
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634019166 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following is a variant of Mongolian race?

1. Nordic race

[ )

. Negritoes

%]

. Alpine race
4. Negroes
Options :
68634075701. 1
68634075702. 2

68634075703. 3
68634075704. 4

Question Number : 26 Question Id : 68634019166 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frfafEa o 9 i Tifera usiiia &1 U UPR § 2
1. S Ul
RED

| )

3T Ualfd
4. =9

L

Options :

68634075701. 1
68634075702. 2
68634075703. 3
68634075704. 4

Question Number : 27 Question Id : 68634019167 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is NOT included in the 5 major themes in Human Geography?

1. Location

[

. Place

L]

. Movements
4. Hierarchies

Options :

68634075705. 1
68634075706. 2
68634075707. 3
68634075708. 4

Question Number : 27 Question Id : 68634019167 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
H19d Yiie o Ui= ygE fawdl (e O 91 O 9 & 19 91 9iifed 98l 6
1. fafufd

2. ®H
3. Tfaai
4. GG

Options :

68634075705. 1
68634075706. 2
68634075707. 3
68634075708. 4

Question Number : 28 Question Id : 68634019168 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which one of the following stage. there is a sharp fall in mortality rate, and fertility rate also shows a
declining trend (but decline in fertility rate 1s slower and begins later)?

1. Expanding population stage

[ ]

. High stationary stage

L¥%]

. Low stationary stage

e

. Declining population stage

Options :



68634075709. 1
68634075710. 2
68634075711. 3
68634075712. 4

Question Number : 28 Question Id : 68634019168 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o @ fop araeu & gegar ax 3ot A oo €1l 8 3R uorar o) o) ikrae @t wgfy qeid & @fe
year g 4 [TR1ae didl gidl ¢ aur a1 4 XS gidl 6)?

1. SFTEET [OSdR Ha=T

.3 TR 3w
= R s

| )

[#5]

4, BTEH ST AT

Options :

68634075709. 1
68634075710. 2
68634075711. 3
68634075712. 4

Question Number : 29 Question Id : 68634019169 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most commeon way for demographers to graphically represent the composition of the population 1s
a/an

1. Scatter diagram

| )

. Line graph

[F%]

. Age-sex pyramid
4, Dispersion graph

Options :

68634075713. 1
68634075714. 2
68634075715. 3
68634075716. 4

Question Number : 29 Question Id : 68634019169 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



W%@ﬁ%@ﬂﬁgm SIFERE] & THe & SR =9 H guiH & o 9a oifte g ot o7 arelt
fafig .

1. Wil R
RGN
4. foge e

Options :

68634075713. 1
68634075714. 2
68634075715. 3
68634075716. 4

[

L]

Question Number : 30 Question Id : 68634019170 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who defined city as "the city is infact the physical form of the highest and most complex type of association
of life".

1. Mumford

[ ]

. Gottman
3. Griffin

4. Geddes

Options :

68634075717. 1
68634075718. 2
68634075719. 3
68634075720. 4

Question Number : 30 Question Id : 68634019170 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e oildd & I=9dd 3R a4 oifcd g9y &1 Yifds 39 & eI 3] g gy g &t 2
1. OO%RIS
TieE

| )



Options :

68634075717. 1
68634075718. 2
68634075719. 3
68634075720. 4

Question Number : 31 Question Id : 68634019171 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Rural settlements in developing countries represent a great challenge and opportumty for
planners.

Reason R: Rural settlements in developing countries are large in number and poorly equipped with
infrastructure.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A.

| ]

. Both A and R are true and R is NOT the correct explanation of A.
3. A 1s true but R i1s false.

4. A is false but R is true.

Options :

68634075721. 1
68634075722.2
68634075723. 3
68634075724. 4

Question Number : 31 Question Id : 68634019171 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- 31 YA fEU T §: U HMHYUT (Assertion A) B =0 H [AEd g a1 GIRT 3HD BRI (Reason R) B
IUH:

HFUBY A : faprahia =0 & arfor e diomeR! & oy fasga gAifaal ud saeR IRgad #=d © |
PRI R : [aprie 3=t & g aifiarst @t 9o 9gd oifUe g 3R MYRYT TR 3 S ekl ¢ |
IIRIgd Yl & ale . - fou 70 fas<l & 3 981 SR &1 99 ST |

1. A SRR EH GO § SR R. A P UgI U &

2. A SR R EHI 9 €. Al R A DT U6l S 81 §

3. A9 E AfbTR 3T B

4. AT APIR IS

Options :



68634075721. 1
68634075722. 2
68634075723. 3
68634075724. 4

Question Number : 32 Question Id : 68634019172 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the types of settlement in ascending order(based on population)

A City

B. Megalopolis
C. Million city
D. Town

Choose the correct answer from the options given below:

1LAD.C.B

| B)

B AR
3. C.B.A.D
4.D.C.A. B

Options :

68634075725. 1

68634075726. 2

68634075727. 3
68634075728. 4

Question Number : 32 Question Id : 68634019172 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT & UHRI $ 3RI6! v H ogaeyd Hiog (SIS & YR W) |

A TR
B. TN

c. fafema faet
D. Bl

-1 fag 77y fapedl ® WEl SR &1 98 3 |
1.L.ADCE
2B A B
J.C,B.A.D
4. D, CAB

Options :



68634075725. 1
68634075726. 2
68634075727. 3
68634075728. 4

Question Number : 33 Question Id : 68634019173 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements about sex ratio

Statement I: Tertiary sex ratio is the ratio of males and females at the time of enumeration.
Statement II: Secondary sex ratio is just one of the determinants of tertiary sex ratio.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II is incorrect.

4. Statement [ 1s incorrect but Statement II is correct.

Options :

68634075729. 1
68634075730. 2
68634075731. 3
68634075732. 4

Question Number : 33 Question Id : 68634019173 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ERT o faTd & fawa 7 = 3l Sy fgu mu &

SYF 1 : T & GG ION! g Faa] & 391 &1 g [Emard Fed ¢

HYA 11 : [T R gaig [EUd &1 7F U6 HURS ©

SIRIT FYI & Seie T, 14 3y 7 fdsedl § 9 99 SUga S &1 999 S
1. YT 1 AR I A Tl §
2. BYA I AR G Tad §
3. Y1 B! 6. ifh YA 11 7Ted ©
4, YT 1TeTd 8, Wich B2 1T Hel &

Options :

68634075729. 1
68634075730. 2
68634075731. 3
68634075732. 4



Question Number : 34 Question Id : 68634019174 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify correct statements about urbanisation.

A. Africa's rate of urbanisation is also likely to fall in future,
B. Europe is the least urbanised region of the world.

C. Africa was the most urbanised region of the world in 1950.
D. Asia has the largest urban population in absolute terms.

Choose the most appropriate answer from the options given below:

1. A. B. and C only

[ ]

. C and D only

3. Aand D only

4. A C,and D only
Options :
68634075733. 1
68634075734. 2

68634075735. 3
68634075736. 4

Question Number : 34 Question Id : 68634019174 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RGN Y Hefed Hel Syl &1 Ugdr= B |
A IBIFT B TRIGU @ R W i A Fr el gadi 2 |
B. T YR &1 964 TH TRIGd 87 ¢ |
C. 3WBIPT 1950 T TUR DT Yad H(UPH TRIPd &7 4T |
D. "RU4 39 H ufmn ¥ gaifte TRE sHaEn € |
i {48 7y fad el o 999 Sugad 9T &1 98 ifo |
1. HBATA. B IR C
2. %Had C 3RD
3. Had AMRD

4. HBAAA. C IRD

Options :

68634075733. 1
68634075734. 2
68634075735. 3



68634075736. 4

Question Number : 35 Question Id : 68634019175 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Approaches) (Features)
A [Regional Analysis 1. |Quantitative revolution
B. [Spatial organisation IIL. R_egmns Vet plaLe
whole

[Emergence of humanistic, Understanding each local
C. s : I11. =

radical and behavioural schools context

Humanised manner of

D. |Post-modemnism in Geography | IV. R

Choose the correct answer from the options given below:

1. A-L. B-II. C-III. D-IV

| B)

. A-ILL B-1. C-IV. D-III
3. A-IIT, B-11. C-IV. D-I
4, A-IV, B-1, C-11, D-III

Options :

68634075737. 1
68634075738. 2
68634075739. 3
68634075740. 4

Question Number : 35 Question Id : 68634019175 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

T T g
(SURTH) (CI&)
A |&ETT fagem L [METHS Hifd
B. [IfAd® e 1L |83 999 &1 fewn 9|
= AHgardrel. Hiddre! d gdera] o Ud® =g 9gy
- [[GaRymTs @135y IR
D. [+ffllel # STR-AY g IV. Wﬂfﬂﬁa{mm
fafeRad faeedl & 9 981 IR &1 99+ BHIfelU -

1. A-L. B-II. C-III. D-IV
2. A-IL B-1. C-IV, D-III
3. A-IIL. B-1I, C-IV, D-I
4. A-IV. B-1, C-II, D-III

Options :

68634075737. 1
68634075738. 2
68634075739. 3
68634075740. 4

Question Number : 36 Question Id : 68634019176 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following representation of a scale 1s NOT affected due to reduction or enlargement of map?

1. Statement scale
2. Representative fraction
3. Graphical scale
4. Numeric ratio

Options :

68634075741. 1

68634075742. 2

68634075743.3
68634075744. 4

Question Number : 36 Question Id : 68634019176 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o= 7 fopg 19 1 W AT & ag®eu 3 Jiada i S eare -
1. PYATHD AT

W@ 19

. HNE ArgH

HETEHS AT

[ ]
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e

Options :

68634075741. 1
68634075742. 2
68634075743. 3
68634075744. 4

Question Number : 37 Question Id : 68634019177 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Length of a road on a map 1s 10 ecm. The scale of the map 1s 1:50.000. When the map is reproduced to
1:1.00.000 scale, the map-length of the road is

1.5em

| )

.20 ¢m
3. 5 km
4. 20 km
Options :
68634075745. 1
68634075746. 2

68634075747. 3
68634075748. 4

Question Number : 37 Question Id : 68634019177 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UF AT R ISP &1 Tl 10 A.H. T | A S AT 1:50,000 § | 6@ A &1 ARG
1:1.00,000 T ATA TR {3501 741 T AFRE W IS& & oy gl
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Options :

68634075745 1
68634075746. 2
68634075747. 3
68634075748. 4

Question Number : 38 Question Id : 68634019178 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following projection is useful for world maps to represent wind circulation patterns. routes,
drainage patterns etc.?

1. Conical projection with one standard parallel

[ ]

. Mercator's projection
3. Conical projection with two standard parallel
4. Polar zenithal Gnomeonic projection

Options :

68634075749. 1

68634075750. 2

68634075751. 3
68634075752. 4

Question Number : 38 Question Id : 68634019178 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fasy Tl UR arg R & wicR=dl, AT, sqarg icR=ul 311fe o1 w0 & fog A= d A S wrugy
3 Suant g1

. UD UHS H&T 91ell TP Y&y
HH UEY

Gl HI-S 31§91 aTell P ey
 Yatg @ AP Y&y

—

| )

(5]

=

Options :

68634075749. 1
68634075750. 2
68634075751. 3
68634075752. 4

Question Number : 39 Question Id : 68634019179 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Variant of which of the following is used to identify the sphere of influences of towns or cities?

1. Flowline map

b2

. Isopleth map

L¥ 5]

. Dot map

e

. Hyetograph

Options :

68634075753. 1
68634075754. 2
68634075755. 3
68634075756. 4

Question Number : 39 Question Id : 68634019179 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hea! 1 WER1 & Y14 &5 1 gga- & fod e § 3 [69d TR &1 vai a1 S g 2

1. WdTg ¥dig g

O 3 O

fagamfE
4. TNETC

Options :

68634075753. 1

68634075754, 2

68634075755. 3
68634075756. 4

| )

[#5]

Question Number : 40 Question Id : 68634019180 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The contour interval of 1:50.000 Survey of India toposheet 1s

1. 10m

| B

20 m
3.50m

4,100 m

Options :
68634075757 1



68634075758. 2
68634075759. 3
68634075760. 4

Question Number : 40 Question Id : 68634019180 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U HRUTG FA&0 [GHUIT & 1:50,000 RITATP I A R @ SRS Bl 6 |
1. 104l

207

3. 50 HI,

[ ]

4. 100 =i,

Options :

68634075757. 1
68634075758. 2
68634075759. 3
68634075760. 4

Question Number : 41 Question Id : 68634019181 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Standard parallel in a conical projection is always the line of zero distortion.

Reason R: In a conical projection, the tangential scale along the standard parallel 1s essentially 1:1.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A.

b2

. Both A and R are true and R is NOT the correct explanation of A.
3. A is true but R is false,

4. A is false but R 1s true.

Options :

68634075761. 1
68634075762. 2
68634075763. 3
68634075764. 4

Question Number : 41 Question Id : 68634019181 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-9 & T 40 7T §: UF SATDHYT (Assertion A) P F9 1 [REd § 1 GHRT 39D BRI (Reason R) &
S0

STUBYT A : TP N&T T AFS & a1 Y [0 areff [ el © |

PRYIR : I Y& H A & F 91y = 3dig 7o ga3em 11 gl 8 |

SWRITd BYA & 3faid H, =< 3T T f[ddbedi & I Hel Guv &1 99 DIfo |
1. AR R G 9T SR R. A P! Tgl U ©

A SRR EH 9§, il R. A B U5l ARAT 8| §

ATIEAFR ST

4 ANTITAPTIRIATE

[

L]

Options :

68634075761. 1
68634075762. 2
68634075763. 3
68634075764. 4

Question Number : 42 Question Id : 68634019182 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the Indian topographical maps in ascending order on the basis of areal coverage (extension)

A 15 sheet

B. Million sheet
C. Degree sheet
D. Special sheet

Choose the correct answer from the options given below:
Lot R D
2Z2DACB
3JACB.D

4.B.A. C.D

Options :

68634075765. 1
68634075766. 2
68634075767. 3
68634075768. 4

Question Number : 42 Question Id : 68634019182 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

gt Havel ([aER) & YR R YR RaPide AH<H B ARG 4 T ouaeyd SIfo |

A 159

B. fafer <t
c. fedi die
D. [agy ofie

i fa 77U fadeul © 9et SR &1 999 1 |

1LABCD

2iDACB
JAC.B.D
4. B.A.C.D

Options :

68634075765. 1
68634075766. 2
68634075767. 3
68634075768. 4

Question Number : 43 Question Id : 68634019183 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the correct statements about map scale.

A. A scale 1s defined as the ratio between a distance measured on the map and the corresponding distance on
the ground.

B. A map scale may be expressed as a numeric ratio (R.F.).

C. A numeric ratio scale can not be used universally.

D. It is not possible to draw a graphical scale from the numeric ratio (R.F.).

Choose the correct answer from the options given below:
1. A and B only
2. Aand C only
3. Aand D only

4. C and D only

Options :

68634075769. 1
68634075770. 2
68634075771. 3
68634075772. 4



Question Number : 43 Question Id : 68634019183 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A Hue & ded § 56l Byl B usdr $1 |

A, OHE IR 914 1T X SR eRTde 0 34T 411 & SUTd &1 B10% & =9 & gRHId a1 Siar g |
B. ITFﬁfaE¥aﬁ3IF1&5EﬁT?T%iHHH33£;E§QTﬂ'GH i)y Feud i w9 g |

C. =D U ifte dIR IR W ! a1 off W&l

D. IS SdIa® (. fit.) Ae § g Ao Bl S Sy TRl E

- fod 70 foeal § Tl STk Pl 98- &1 |

1. $dd A 3R B
2. HBAAA AR C
3. HBIAAARD
4. ®ad C 3R D

Options :

68634075769. 1

68634075770. 2

68634075771. 3
68634075772. 4

Question Number : 44 Question Id : 68634019184 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST1I LISTIT
(Maps) (Example)
A |Chorochromatic 1. |Interaction Maps
B. [lsopleth II. [Population distribution maps
C. |Quantitative dot IT1. |Contour maps
D._ [Flowline IV |Land use maps

Choose the correct answer from the options given below:

1. A-I. B-II, C-III. D-IV

| ]

CA-ILL B-1, C-IV, D-I1
3. A-IL B-III, C-1. D-IV
4. A-IV, B-11I. C-I1, D-I

Options :

68634075773. 1

68634075774. 2
68634075775.3



68634075776. 4

Question Number : 44 Question Id : 68634019184 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

T 1 T
GIGICED, (SSTEX
A [E 1. [3ic:fear aAtaa
B. [GHEM @l 11 [ faaRo gEra
C. [FETE® g 111 [gH=RE JHA
D. [ydrg &l IV, [4iF SugnT AHRE
fAafaRad foweal & I Ogt SR &1 994 Difog -

1. A-I. B-II. C-III. D-IV
2. A-IIL. B-1. C-IV. D-II
3. AL B-TIIL. C-1. D-IV
4, A-IV. B-11I. C-II. D-I

Options :

68634075773. 1

68634075774. 2

68634075775. 3
68634075776. 4

Question Number : 45 Question Id : 68634019185 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The interrelationship between plants and animals and their biotic and abiotic environment is termed as

1. succession

| B

. community

Laa

. biogeography
4. ecosystem

Options :

68634075777. 1
68634075778. 2
68634075779. 3
68634075780. 4



Question Number : 45 Question Id : 68634019185 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁ"rzﬁa%ﬁ?trﬂaﬁamw&: Sifa® Ud el Taia=ul & Hed UTe o aTel 3 T &1 G|
Saig |

1. STHHTT
E™

g I

4, gifRufaet o

Options :

68634075777. 1
68634075778. 2
68634075779. 3
68634075780. 4

| )

L

Question Number : 46 Question Id : 68634019186 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT a part of Sethu Samudram Ship Canal Project?

1. Gulf of Mannar

| B

. Palk Bay
3. The Adam's Bridge

4. Gulf of Khambhat

Options :

68634075781. 1
68634075782. 2
68634075783. 3
68634075784. 4

Question Number : 46 Question Id : 68634019186 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 T & 1 1 O] TR UId e URAH $1 U U el § 2
1. H9R &1 @lo!

Ui @rel

. TEH BTG

4. G B @ral

[ ]

L]

Options :

68634075781. 1
68634075782. 2
68634075783. 3
68634075784. 4

Question Number : 47 Question Id : 68634019187 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The maintenance of grasslands through burning is an example of

1. plagioclimax

[ )

. edaphic control

L]

. succession
4. biomes

Options :

68634075785. 1
68634075786. 2
68634075787. 3
68634075788. 4

Question Number : 47 Question Id : 68634019187 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AP 9 & HaMI &1 3G-3dd &1 U 4GV § |
S d IRH
 Tdig g
- SIHHT
4. Silag

Options :
68634075785. 1

—

| )

[#%]



68634075786. 2
68634075787. 3
68634075788. 4

Question Number : 48 Question Id : 68634019188 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following types of stability refers to the establishment of stability in a natural ecosystem after
large scale disturbances or perturbations?

1. No-oscillation stability

[ ]

. Resilience stability
3. Elastic stability
4. Cyclic-stability

Options :

68634075789. 1
68634075790. 2
68634075791. 3
68634075792. 4

Question Number : 48 Question Id : 68634019188 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

M O 4 6 YoR o R Wi e gaiaRtl 1§ ged-war & oade a1 Sfoiaedl & Uld RURdl &l
YT Bl & 2

e fed R
TS R
g fRar

4, 1y FRURAT

Options :

68634075789. 1
68634075790. 2
68634075791. 3
68634075792. 4

—

| )

(5]

Question Number : 49 Question Id : 68634019189 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following subjects related to environment is included m the state list of the VII™ schedule of
the constitution of India?

1. Fishing beyond territorial waters.

2

. Public health and sanitation.
3. Regulation and development of o1l fields.
4. Regulation and development of Inter-state rivers and river valleys.

Options :

68634075793. 1
68634075794. 2
68634075795. 3
68634075796. 4

Question Number : 49 Question Id : 68634019189 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%ﬂﬁﬁmm{ qafaRuT Haled 1 1 [dw YRdr dider @ s gl &l 7 d] s § gitierd i

1. SHTTd STaeE (%) 9 W Ao e sl

2. O W 3R Wwsdl

3. T &1 1 g iR faery

4. 3Ry et 3R =l wifed &1 g ok faer

Options :

68634075793. 1
68634075794. 2
68634075795. 3
68634075796. 4

Question Number : 50 Question Id : 68634019190 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: The distributions of marine plants and animals are more widespread and cosmopolitan than the
distributions of terrestrial organisms.

Reason R: Nutrients are circulated more quickly and efficiently in sea water.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct and R 18 NOT the correct explanation of A.
3. A 1s correct but R not correct.

4. A is not correct but R is correct.

Options :

68634075797. 1
68634075798. 2
68634075799. 3
68634075800. 4

Question Number : 50 Question Id : 68634019190 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i g1 YA AU T §: US SHIUDU (Assertion A) P &Y H ARG § ol gERT 39 BRI (Reason R) &
BY 4:

%rf‘wuﬂg:aﬁﬂusﬂa’féi faa=ur 1 gaT & IR it SR offal &1 faaRor same oyt Saerdt gl
i

BRI R : TR &6 7 0N d@ i dea ik qumasmel ¢ 3 oidaid g g1
SWRI BYH & ATl 1, 1< 34U 7Y [deedi ¥ 9 9ad Iuged SR &1 99 SHifoig|
1. ATUTR &I 98l § dUTR. A &) Hol e 8
2. AGUTR &I Tel &, dfch R, A & Ul oUReAT 781 o
3. ATSI R O R TR
4, ATEI TR S AT R WSl &

Options :

68634075797. 1
68634075798. 2
68634075799. 3
68634075800. 4

Question Number : 51 Question Id : 68634019191 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following stages of man's relationship with natural environment in chronological order:

A. Period of plant domestication and agriculture.

B. Period of Science. technology and industrialsation.
C. Period of hunting and gathering.

D. Period of animal domestication and pastoralism.

Choose the correct answer from the options given below:

1.A,B.C,D

[ ]

.C,DA B
3.D.C.B.A
4.C.B.A.D

Options :

68634075801. 1
68634075802. 2
68634075803. 3
68634075804. 4

Question Number : 51 Question Id : 68634019191 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H1d 3R WIepfads Gaiavul o Gra= &l G- arel (A5 SawI13f & Sleiepd 3 ogafeud oY |

A, TTelT & OTAq@Rol SR H1Y HT g

B. fa9M, d@io! 3R i &1 g0
C. RIR 3R UpAID0 &1 g7

D. Y31 & YA vl 3R TLIR DI 7T

+td fad 77U fadeal o Get SR &1 999 1 |

1.LA.B.C,D

b2

.C,DA.B
3.D.C.B.A
4.C,B.A.D

Options :

68634075801. 1
68634075802. 2
68634075803. 3
68634075804. 4

Question Number : 52 Question Id : 68634019192 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Biodiversity refers to the variety of habitats. species and genetic diversity in an ecosysten.
Statement IT: The South Asian Tsunami on 26 December 2009 was caused by an earthquake due to sinking of
the Indian plate under the Pacific plate.
In the light of the above statements, choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement II are mcorrect.

3. Statement I 1s correct but Statement IT 1s incorrect.

4, Statement [ is incorrect but Statement II is correct.

Options :

68634075805. 1
68634075806. 2
68634075807. 3
68634075808. 4

Question Number : 52 Question Id : 68634019192 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 g By fau U B
BYF 1 : TIRMS! o7 F fafire smardiy, yardy iR w=-@ fafduarsi «f wa-fafdyud e o |

DY 11 : 26 [GHaR 2000 1 &0 TN T 31 arell A BT HRUN YR I & Y2iid ©ie & A< 8
U G HhHg T |

SWRIG Pyl & 3faisd F, i f3u U fasedl § 9 968 Sugad I &1 99 DI
1. Y1 AR 1T T R
2. BY 1 IR 11 ST T §
3. BY 1 TG . AP FUF 1 TTAd §
4. BT 17T §, AP BU 1 T B

Options :

68634075805. 1
68634075806. 2
68634075807. 3
68634075808. 4

Question Number : 53 Question Id : 68634019193 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Read the following statements with reference to air pollution in India and identify the correct one's:

A, Air pollution is not a serious threat in India due to low level of urbanisation and industrialisation.

B. Good governance and excellent compliance to pollution control norms has contributed in negative
growth of pollutants.

C. Fuel and lubricants quality specifications have been introduced to check air pollution.

D. Alternative fuels have been introduced to check air pollution.

Choose the correct answer from the options given below:

1. C and D only

b2

. A and B only
3.A. Cand D only

4. B and D only

Options :

68634075809. 1
68634075810. 2
68634075811. 3
68634075812. 4

Question Number : 53 Question Id : 68634019193 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRA § a1 UguUl & Ya § (5 Syl 31 iU 3ik U8l $uH o1 ug=ni-y |

A TRIDRUT 3R SENMIeBRU & (45 WR & SR YR H a1 gyl Ue TR Fhe 961 6 |

B. UGY®| @1 BUTHD qig T UGN (a0 O] &1 3P Y Ul 3R §5aR AT ST ANEH © |
C. 91 YgHU] &I Al & & [AU S8 3R Tigd &1 [uadl & faFHew ar] feu e g |

D. 91 YgHUI & (HT3d &= & (o0 debfetie seH &l YA DI T3 © |

= feu e famed! & @ Ot 3T o1 904 Sif:
1.%ad C 3R D
2. Pad A JRB
3.%ad A, C 3RD
4. $TAB ARD

Options :

68634075809. 1
68634075810. 2
68634075811. 3
68634075812. 4




Question Number : 54 Question Id : 68634019194 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Pollutant) (Disease)
& dees of Nitrogen and 1 |Asthma
Sulphur
B. |Particulate matter II. May lead to stroke
C. |Carbon monoxide III. |Bronchitis
D [Osisiie salbitias v I1*r_1rat10n to eves, nose and
throat

Choose the correct answer from the options given below:
1. A-L. B-II. C-III. D-IV
2. A-IL B-1. C-IV. D-III
3. A-IIL B-1. C-II. D-IV
4. A-IV. B-11I. C-I1, D-I

Options :

68634075813. 1
68634075814. 2
68634075815. 3
68634075816. 4

Question Number : 54 Question Id : 68634019194 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 i 11 9 i Sife

I 1 I

(D) @iy
N Gawm iy B
B. [®U®E gay 1. Reid @] SR
C. [@lad A5 S 8 EIREAFEES

e, % aR A H

D i g ™ [efgee
fFafeiad fasedl § 9 Tl IR &1 90 Hife

1. A-L. B-II. C-III. D-IV

| )

A-IL B-1. C-IV, D-III
3. A-IIL B-1. C-II. D-IV
4. A-IV. B-1II. C-I1. D-1

Options :

68634075813. 1
68634075814. 2
68634075815. 3
68634075816. 4

Question Number : 55 Question Id : 68634019195 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
As per census of India 2011. the two most densely populated states of India are

1. West Bengal and Kerala
2. Kerala and Uttar Pradesh
3. Bihar and West Bengal
4. Tamil Nadu and Haryana

Options :

68634075817. 1

68634075818. 2

68634075819. 3
68634075820. 4

Question Number : 55 Question Id : 68634019195 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SFRTUMT 2011 & S8R, YR & &l Haile SEe g ard Iy Tl
1. OfETH ST SR PR

[

A 3R G U]
 dffeArg SR ghamm

Options :

68634075817. 1
68634075818. 2
68634075819. 3
68634075820. 4

L]

e

Question Number : 56 Question Id : 68634019196 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Tropic of cancer does not pass through which one of the following states?

1. Tripura

[ ]

. Mizorum

LF¥]

. Manipur
4. Chhatishgarh

Options :

68634075821. 1
68634075822. 2
68634075823. 3
68634075824. 4

Question Number : 56 Question Id : 68634019196 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e 9 foog sy 1 9 b 3@ el Rl 6 2
].. .—] E
REEEeE
4, BUNTTG

| )

[#%]

Options :



68634075821. 1
68634075822. 2
68634075823. 3
68634075824. 4

Question Number : 57 Question Id : 68634019197 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of the following is NOT an antecedent river ?
1. Krishna
2. Indus
3. Yamuna

4. Brahmaputra

Options :

68634075825. 1
68634075826. 2
68634075827. 3
68634075828. 4

Question Number : 57 Question Id : 68634019197 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
{1 § 9 171 Us ydad! e el 6 2
1. P
iy
bl
4. STET4A

Options :

68634075825. 1
68634075826. 2
68634075827. 3
68634075828. 4

| )

L

Question Number : 58 Question Id : 68634019198 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In 2011, the female literacy was lowest in
1. Bihar

. Rajasthan

[

L]

. Jharkhand

4. Arunachal Pradesh

Options :

68634075829. 1
68634075830. 2
68634075831. 3
68634075832. 4

Question Number : 58 Question Id : 68634019198 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SRTUAT 2011 3 3R, Ja4 &H Afga &Rl & Rl

1. fagR
2. e8I
3. ¥REUS
4. ST USRI

Options :

68634075829. 1

68634075830. 2

68634075831. 3
68634075832. 4

Question Number : 59 Question Id : 68634019199 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Atal Tunnel is built in which one of the following ranges?

1. Pir Panjal

(B

. Dhauladhar
3. Zaskar
4. Stwalik
Options :

68634075833. 1
68634075834. 2



68634075835. 3
68634075836. 4

Question Number : 59 Question Id : 68634019199 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T & 9 o uda gRaen 8 sfew 1 o i fea marg 2
1. 4R e

| )

3. Ol
4. TRranfere

Options :

68634075833. 1
68634075834. 2
68634075835. 3
68634075836. 4

Question Number : 60 Question Id : 68634019200 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Post-1981. India has moved to late expanding stage of demographic transition.

Reason R: In India the gap between birth rates and death rates has increased only gradually after 1981.
In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A.

2

. Both A and R are true and R is NOT the correct explanation of A.
3. A is true but R 1s false.

4. A is false but R is true.

Options :

68634075837. 1
68634075838. 2
68634075839. 3
68634075840. 4

Question Number : 60 Question Id : 68634019200 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-9 & T 40 7T §: UF SATDHYT (Assertion A) P F9 1 [REd § 1 GHRT 39D BRI (Reason R) &
S0

HFUSYT A : URA 7 1981 & §Q FHIRGB T HpHUl B [GelTad [GwRor sawy1 T Uaer &= 741 |
PRUTR : YR 8 o7 R 3R I X F 9 FT 300 1981 & Ix91d SRR T¢I 81
SWRITd BYA & 3faid H, =< 3T T f[ddbedi & I Hel Guv &1 99 DIfo |
1. AR R G 9T SR R. A P! Tgl U ©
A SRR EH 9§, il R. A B U5l ARAT 8| §

AGIETAPIR 3T

[

L]

4 ANTITAPTIRIATE

Options :

68634075837. 1
68634075838. 2
68634075839. 3
68634075840. 4

Question Number : 61 Question Id : 68634019201 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following states i descending order of literacy as per the census of India. 2011.

A. Karnataka

B. Tamil nadu

C. Hunachal Pradesh
D. Gujarat

Choose the correct answer from the options given below:

1. €. B, DA
2.B.C.D,A
3.B.C.A.D
4. C.D.AB

Options :

68634075841. 1

68634075842. 2

68634075843.3
68634075844. 4

Question Number : 61 Question Id : 68634019201 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

HRA DI SIUMAT 2011 & 3FER A1 U 770 751 D1 &R & & THR faRis! vH H Fafyd Sifog
|

A. TAlCH

¢ fema

D. ToRTd

=i {7 T fam gl # |el SR &1 90 B |

1.C.B.D.A

2:B. 2. D A

3.B.C.A.D

4 C.D.A.B

Options :

68634075841. 1
68634075842. 2
68634075843. 3
68634075844. 4

Question Number : 62 Question Id : 68634019202 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Compact or clustered settlements, are generally found in fertile alluvial plains of India.
Statement II: Extreme dispersion of settlement is often caused by extremely fragmented nature of the terrian
and land resource base of habitable areas.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.

[

. Both Statement I and Statement I are incorrect.
3. Statement I is correct but Statement II is incorrect.

4. Statement I is incorrect but Statement II is correct.

Options :

68634075845. 1
68634075846. 2
68634075847. 3
68634075848. 4

Question Number : 62 Question Id : 68634019202 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S IEREAAIE ARl S
HYT1 : YA & UGS, 9Iailg HaH! J SFad: Su a1 gford Sidl o1g o 5 |

DY 11 : I DT A faamaor urg: 4-4rT Ud o g &3 & Y G4 SnuR of sfdide fagfsd
o & BRI S 8

SIRIF FYI & Seie 1, = 3y 7 fdwedl § 3 99 SUga IR &1 9979 S
1. HYT 1 AR I SH Tl §
2. BYA [ AR G Tad §
3. Y1 B! 8. ifh YA 11 7T9d &
4, YT 17eTd 8, Wich B2 1T Tel &

Options :

68634075845. 1
68634075846. 2
68634075847. 3
68634075848. 4

Question Number : 63 Question Id : 68634019203 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Read the following statements carefully and identify the correct one's .

A. The Dharwar system rocks are of great economic value due to presence of principal minerals.
B. Aravalli Range of India originated from Tethys sea.

C. Deccan trap is made up of basalt lava.

D. Lakshadweep 1slands are tectonic islands.

Choose the correct answer from the options given below:
1. A. B and C only
2.B.C and D only
3. Cand D only

4. A and C only

Options :

68634075849. 1
68634075850. 2
68634075851. 3
68634075852. 4

Question Number : 63 Question Id : 68634019203 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

i< f&u U Syl BT eAYd® uleT iR Tl HUH| Pi ggan-u|

A THE G B SURUG & PR YRAIS B8 &1 9gHi ol sdAfds e ge g
B. YRd @ 3R 4Gell & Jcf cfUe IR 4 g5 o

C. Gah ¢U I CRIGAIEIR R IR

D. T&% 1Y i 9E fdadH® §id 953 o

i feu U f[d@edl § U Uel TR & 999 BioI:
1. Had A. B 3R C
2. PadAB. C AR D
3.%ad C 3IRD
4. PAAA AR C

Options :

68634075849. 1
68634075850. 2
68634075851. 3
68634075852. 4

Question Number : 64 Question Id : 68634019204 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(State) (Pass)
A [Himachal Pradesh [. |[Thagala
B. |Uttarakhand II. [Banihal
C. |Sikkim II1. [Bara Lacha La
D. Jammu IV. Pelep La

Choose the correct answer from the options given below:

1. A-IIL B-I. C-IV, D-II
2. A-II, B-III. C-IV. D-I
3. A-II. B-III. C-1. D-IV
4. A-IV, B-I. C-IIL, D-II

Options :

68634075853. 1

68634075854. 2

68634075855. 3
68634075856. 4



Question Number : 64 Question Id : 68634019204 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

A [[BH=a UcH L [urmEt
B. [3Tr@vs 1. [dfHerd
C. [FafaeH 111 [ORT @ o3
D. [o7 3R =R v [Sem et

fFrafarad fomed & 9 96 SR @1 924 DI ;

1. A-II1. B-1. C-IV. D-T1
2. A-IL B-IIL, C-IV. D-I
3. A-IL B-III. C-1. D-IV
4. A-TV. B-1. C-I11. D-II

Options :

68634075853. 1

68634075854. 2

68634075855.3
68634075856. 4

Question Number : 65 Question Id : 68634019205 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Economiec geography deals with the economic life of man with relation to environment." Who gave this
definition?

1. Huntington

| )

. Zimmerman
3. Hartshome

4. Thoman

Options :

68634075857. 1
68634075858. 2
68634075859. 3
68634075860. 4

Question Number : 65 Question Id : 68634019205 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
&1 Ilie Bd o 311 Siia & yglaRul & 1Y Tra=il &1 S{eRH o 38 YR oo gl o7 2

1. §feTre
2. oA
3. Qe
4. 4B

Options :

68634075857. 1
68634075858. 2
68634075859. 3
68634075860. 4

Question Number : 66 Question Id : 68634019206 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Von Thunen argued that was the main determinant of what combination of crops a farmer should
grow and with what intensity.

1. distance from the marlket
2. fertility of the soil
3. price of the crop
4, amount of rainfall.
Options :
68634075861. 1
68634075862. 2

68634075863. 3
68634075864. 4

Question Number : 66 Question Id : 68634019206 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



GIERCEEE TS Kol fFeifd B § 3 U (o &1 & 19-91 Budl &1 g ST 91ed aut
for g et |

ORI
Tl 1 Saresmdr
R G R

4. 9U1 Dt TET

Options :

68634075861. 1
68634075862. 2
68634075863. 3
68634075864. 4

—

[

L]

Question Number : 67 Question Id : 68634019207 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Extracting coal from the ground is an example of which sector of the economy?

1. Primary

[

. Secondary

L¥ 5]

. Tertiary

4. Quaternary
Options :
68634075865. 1
68634075866. 2

68634075867. 3
68634075868. 4

Question Number : 67 Question Id : 68634019207 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S ¥ BT BTG Afawn F 6y Gus $13wR0E 2
1. e
feclioe
i
Aagde

| )

L

=Y



Options :

68634075865. 1
68634075866. 2
68634075867. 3
68634075868. 4

Question Number : 68 Question Id : 68634019208 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Following are the human factors influencing industrial location: except

1. Capital

2

. Site
3. Labour
4. Market
Options :
68634075869. 1
68634075870. 2

68634075871.3
68634075872. 4

Question Number : 68 Question Id : 68634019208 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SEl W ARl &1 yuifad 3 ard aHd PR ey € daa P ISP
1. il

R

| )

3.4
4. dlvflE

Options :

68634075869. 1
68634075870. 2
68634075871. 3
68634075872. 4

Question Number : 69 Question Id : 68634019209 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mediterranean agriculture 1s NOT practised in which one of the following places ?

1. Southern California

b2

. Central Chile
3. South Western parts of South Africa
4. North Eastern parts of Australia
Options :
68634075873. 1
68634075874. 2

68634075875. 3
68634075876. 4

Question Number : 69 Question Id : 68634019209 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e 1 9 g =F R YRy TR $ o e B S 2
1. Gf&mn feremii-ar
7y feret
AT STpTeT & SfErurafgast 1T
ST & ITR-gdl HFT

| )

L

=

Options :

68634075873. 1
68634075874. 2
68634075875. 3
68634075876. 4

Question Number : 70 Question Id : 68634019210 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following zones identified by Von Thunen in order of their location from the city.

A. Crop farming without fallow zone

B. Crop farming, fallow and pasture zone

C. Market gardening and milk production zone
D. Fuelwood and Timber production zone

Choose the correct answer from the options given below:
1.LA.B,C.D
2D.AB.C
3.C.DLAB

4.B.A.D.C

Options :

68634075877. 1
68634075878. 2
68634075879. 3
68634075880. 4

Question Number : 70 Question Id : 68634019210 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 2 gR1 FuiRa 5 431 &1 e 1 Ga ! [RUfd & sER o0 1 s |

A, TR YT & o1 e 935
B. A §3115. TRdll 3R IRITE &4
C. IRIPd BT SR G IdTe &7
D. d@al 3R 347 IdIeT &84
i fau 7Tt fawedl © § 9El SR &1 997 Hifult:

1.ABC.D
2B A BIC
3.C,LA.B
1B, AT, G

Options :

68634075877. 1

68634075878. 2

68634075879. 3
68634075880. 4

Question Number : 71 Question Id : 68634019211 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements about Weber's theory of industrial location:
Statement I: Weber introduced locational triangle to identify least-cost location for a industry.
Statement IT: Any industry producing perishable products needs to be located close to the market.
In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.

3. Statement I 1s true but Statement II is false.

4, Statement [ 15 false but Statement II is true.

Options :

68634075881. 1
68634075882. 2
68634075883. 3
68634075884. 4

Question Number : 71 Question Id : 68634019211 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
deR & Sl Sfaemu gl & aR 8 = 3 o R T g:
Y1 : Uh Y1 & oI gAdH AN dTel WH Fi ugaH & A dax 7 srafeufd By 3 ufv=g o
SYTII : Dl il ST &1 e WG §H areil w3l BT ITGH Bl 6. SIGR & (e (Ud gHl AMgu|
SWRIad Ul & 3ale . A1 fou 7 fasedl & 4 951 SR &1 99 SIfo:
1. PYF 1 AR 11 GH T &
2. PYT1 ARG T 8

3. PU 1 UA €. A S 11 3T ©

4 PYTI IR, AT P I Ta B

Options :

68634075881. 1
68634075882. 2
68634075883. 3
68634075884. 4

Question Number : 72 Question Id : 68634019212 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Read the given statements about primary activities carefully and identify the correct statements.

A. North Western Europe is not suitable for commercial dairy farming.

B. Plantation agriculture was introduced by the Europeans in colonies situated in the tropics.

C. Intensive subsistence agriculture is largely found in highly developed parts of the world.

D. Commercial grain farming is practised in the interior parts of the semi-arid lands of the mid-latitudes.

Choose the correct answer from the options given below:
1. A and B only
2.B and C only
3. Cand D only

4. B and D only

Options :

68634075885. 1
68634075886. 2
68634075887. 3
68634075888. 4

Question Number : 72 Question Id : 68634019212 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it fparaandl & ey § A oyl &1 ufeu ik 98! o=l &1 994 Sifog|

A, RS ST BIHT & foy Sor-ulSat ZR1Y 3ugad =gl ¢ |

B. 3wl ¥ [d Sul-d=i 4 ZRITUTH & gRT U0 Sy IS &l 1 i)

C. 7T wiia (Hdle® SN T9R & 3= [dei¥d &3 4 ulg Wl ¢

D. G TS DY Hed & & 3g-{&P &1 & AT=ARD HFT H BI Wil 5|
i fau 0 f[daredl | U Uel 3R &1 904 BHioig:

1. %ad A IR B

2. HaAB AR C

3. %ad C 3D

4. HIAB AR D

Options :

68634075885. 1
68634075886. 2
68634075887. 3
68634075888. 4

Question Number : 73 Question Id : 68634019213 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Activities) (Workers)
A |Primary activities 1. Pink-collar
B. |Tertiary activities II. [White-collar
C. |Quaternary services 11T |Gold-collar
D. [Quinary activities IV, |[Red-collar

Choose the correct answer from the options given below:

1. A-IV. B-I, C-II, D-III

[ ]

CA-T B-IIL C-IV, D-I1
3. A-IL B-IV, C-I11, D-I
4. A-II1. B-11. C-1. D-IV

Options :

68634075889. 1
68634075890. 2
68634075891. 3
68634075892. 4

Question Number : 73 Question Id : 68634019213 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen
T I i}

ERIETSI) {ﬁm
A i@ iy 1 [Iast Sl
B. [qciiad fsardban 11 [Hhg BIY
C. [add® fspardban 1L [{=53 Bl
D. [U=H feharaary IV. [eTeT @ IeR
frafarad famed & I 96t SR @1 904 DI ;

1. A-IV, B-I. C-II, D-III
2. A-L B-IIL, C-IV. D-IT
3. A-IL B-IV, C-111, D-I
4. A-II1. B-1I. C-1. D-IV
Options :
68634075889. 1

68634075890. 2
68634075891. 3



68634075892. 4

Question Number : 74 Question Id : 68634019214 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 18 NOT a favourable condition for the formation of tropical cyclones?

1. Weak coriolis force.

[ )

. Continuous supply of large amount of warm and moist air

Lad

. Upper air divergence
4, Maxinmm vertical wind shear
Options :
68634075893. 1
68634075894. 2

68634075895. 3
68634075896. 4

Question Number : 74 Question Id : 68634019214 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 B O - U SRy U ey Tehardl B Ikl & U vy A8l § 2
1, PHYIR PRI &
T R 3% arg @i FR=aR S
SRl a1y BT S{UEI00

| )
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A FHeateR arg wiced
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Options :

68634075893. 1
68634075894. 2
68634075895. 3
68634075896. 4

Question Number : 75 Question Id : 68634019215 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



is the probability that a hazard will happen or. more precisely. the likelihood that an event will
coincide with elements which can be affected.”

1. Resilience

2. Vulnerability

3. Risk

4. Mitigation
Options :
68634075897. 1
68634075898. 2

68634075899. 3
68634075900. 4

Question Number : 75 Question Id : 68634019215 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

" g8 TG & fob =T o a1 ifde Ididar 9. ueney 9 dadl & 9y gfea giar s
fSrTep1 T wuIfad S

-
SifEs

4, U@
Options :
68634075897. 1
68634075898. 2

68634075899. 3
68634075900. 4
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Question Number : 76 Question Id : 68634019216 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following country is not associated with Indian Ocean Tsumani Warning and Mitigation System
(I0TWMS)?

1. Sweden

2. Iran

3. Indonesia

4. Australia
Options :
68634075901. 1
68634075902. 2

68634075903. 3
68634075904. 4

Question Number : 76 Question Id : 68634019216 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e © 9 11 X o< HerrRIg YA g SR HISR0 aF (I0TWMS) & 1Y ST g3 781 6 2
1, Wis
2. M
3. USRI
4. SfTferan

Options :

68634075901. 1
68634075902. 2
68634075903. 3
68634075904. 4

Question Number : 77 Question Id : 68634019217 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
National Institute of Disaster management comes under
1. Ministry of Home Affairs
2. Ministry of Health and Family Welfare

3. Ministry of Science and Technology

4. Prime Minister Office

Options :



68634075905. 1
68634075906. 2
68634075907. 3
68634075908. 4

Question Number : 77 Question Id : 68634019217 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT U] ee JIH & I AT |
1. 78 HATG™
1331 va UiRiiet g3y
4. YT Tt pratag
Options :
68634075905. 1
68634075906. 2

68634075907. 3
68634075908. 4

| )
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Question Number : 78 Question Id : 68634019218 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of the following is a Non-structural measure of flood management?
1. Flood plain zoning
2. Embankments and Floodwalls
3. Dams and Reservoirs

4. Channel improvement

Options :

68634075909. 1
68634075910. 2
68634075911. 3
68634075912. 4

Question Number : 78 Question Id : 68634019218 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[ T ¥ B |1 91 YsY BT U SRS U § 2
1. §1¢ & HET BT &A1aHR0I
2. dea 3R &1¢ & AR
3. Sty 3R SR
4, T GUR

Options :

68634075909. 1
68634075910. 2
68634075911. 3
68634075912. 4

Question Number : 79 Question Id : 68634019219 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Hazard is a threat but disaster is an event.

Reason R: Disaster represents a serious disruption of the functioning of a society. causing widespread human,
material or environmental losses which exceed the ability of the affected society to cope using its own
resources.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A.
2. Both A and R are true and R is NOT the correct explanation of A.
3. A 1s correct but R 1s not correct.

4. A is not correct but R is correct.

Options :

68634075913. 1
68634075914. 2
68634075915. 3
68634075916. 4

Question Number : 79 Question Id : 68634019219 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 &l YA [GU T §: UF SHMDHYT (Assertion A) b &Y H [RId & ol GHRT 39 BRI (Reason R) &
$U o:

SfUDBYT A : AR TP a1 & Siafd AU U el ol

PRUT R : ATIST GHS BT RO & fou ue TR fawg o1 wfaffia sdt & e ame. gmer o
TTaR0T &1 IHEM BId1 © 3R WU FHT 319 S &1 TN SR 8] Al H3 Bl
&Il ol ¥ 5 |

SURIGT DYl & el . A 14U U fasedl © 9 9a8 Sugad SR &1 99 DI |
1. ATUTR &I 98l § dUTR. A &) Hol e 8
2. AGUTR GHI Hel &, dfch R, A & Ul oUReAT 81 o
3. AT R AP R TR
4 ATEITE g APTIR TS &

Options :

68634075913. 1
68634075914. 2
68634075915. 3
68634075916. 4

Question Number : 80 Question Id : 68634019220 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following tropical disturbances in order of inereasmg wind speed.
A. Deep Depression
B. Depression
C. Super Cyclone
D. Cyclonic storm

Choose the correct answer from the options given below:

1.A.D.B.C
2Z2ADCB
3B.ADC
4. B, A C.D
Options :
68634075917. 1
68634075918. 2

68634075919. 3
68634075920. 4



Question Number : 80 Question Id : 68634019220 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gl 5% Ua- 71 & S9R i Swdfeadia fqefi & orafd Sifer-

PRI L R G AL
B. Al

C. R Tehard
D. Iehaldid i

-+t f&2 770 fadeal © Fet SR &1 994 1 |

1A B

| )

A.D.C.B
3B,A.D,C
4 B.A.C.D

Options :

68634075917. 1
68634075918. 2
68634075919. 3
68634075920. 4

Question Number : 81 Question Id : 68634019221 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: More cyclones develop in the Bay of Bengal than the Arabian Sea.

Statement IT: Between 1891 and 1990 the west coast region received more severe cyclonic activity as
compared to the east coast of India.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement I are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II i1s incorrect.
4. Statement I 1s incorrect but Statement II 1s correct.
Options :
68634075921. 1
68634075922. 2

68634075923.3
68634075924. 4

Question Number : 81 Question Id : 68634019221 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Ry fRumue:
DY 1 ST Pl WIS H 3RT PR Pl g1 H 34 =ebald ITA A © |
B T : 1891 3R 1990 & HY YR o UfRTH! ¢ &4 R 83 Ydl de @ o1 d 3if¥ie iR gehardig
ool e St g 8
QWIS Y & 3Talie H, i fau Y fdsedl § 9 998 Sugdd SR &1 90 SIfeid:
1. Y1 AR IS 9el 8
2. HYF 1 AR 11 H1 Tad 8
3. Y16l 8. i YA 1 Tad ©

4, FYF 1 7T0d 8. AfhT HUT 11 el ©

Options :

68634075921. 1
68634075922. 2
68634075923. 3
68634075924. 4

Question Number : 82 Question Id : 68634019222 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following with reference to National Institute of Disaster Management. carefully and identify the
correct statements.

A Tt is an upgradation of National Centre for Disaster management.
B. It is not a statutory organisation under NDMA.

C. It develops training modules.

D. It develops educational materials for disaster management

Choose the correct answer from the options given below:

1. A. B and C only

b2

. B and C only
3.B and D only

4, A. C.and D only

Options :

68634075925. 1
68634075926. 2
68634075927. 3
68634075928. 4

Question Number : 82 Question Id : 68634019222 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AP Y] YeieH SR & Ha # e 31 elgd® uigy SR Hel | &l uga |
A. T8 IV SHTIT Ha e $= B 390 ¥4 6|
B. WP TUa1 Hae= SFaH & Siaiid T8 Te duTe 716 7ol ol
C. U8 A& SrieH [awid THal g
D. U8 3931 yaeH & o Rerfore grdt feiag s gl
i fou 7Tt fawedl © § 9El STR &1 997 Hifult:
1. HATA. B IR C
2. HIAB IR C
3. HaAB IR D

4. FAAA.C AR D

Options :

68634075925. 1
68634075926. 2
68634075927. 3
68634075928. 4

Question Number : 83 Question Id : 68634019223 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Region) (Disaster)
A Middle Ganga Plain I. [Drought
B. [Western Rajasthan IT. |Cyclone
C. |Sikkim 111 [Flood
D. [Coastal Odisha IV. [Earthquake

Choose the correct answer from the options given below:

1. A-IT. B-IV. C-III. D-1
2. AL B-IV. C-T1, D-I
3. A-IIL B-1. C-IV. D-1I
4. A-IV. B-1I. C-1. D-III

Options :

68634075929. 1

68634075930. 2

68634075931. 3
68634075932. 4



Question Number : 83 Question Id : 68634019223 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

'Fg;] T
L CUECY)
A A I HGH I Rl

B. [qT=aH! T 1L [gshard

C. [gidma 111 [€1G

D. [d21g 3fifg=m IV. [

FfaiRad foseal § O 98! SR & 904 DI

1. AT BIV, COIL D4
2. A-III, B-IV. C-II, D-1
3. A-III, B-I, C-IV, D-II
4. A-IV, B-II. C-1. D-III

Options :

68634075929. 1

68634075930. 2

68634075931. 3
68634075932. 4

Question Number : 84 Question Id : 68634019224 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following is a sub-segment of business travel?

1. Eco-tourism

[ )

. Medical tourism
3. Sustamable tourism
4. MICE

Options :

68634075933. 1
68634075934. 2
68634075935. 3
68634075936. 4

Question Number : 84 Question Id : 68634019224 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634075933. 1
68634075934. 2
68634075935. 3
68634075936. 4

[ ]

L]

=S

Question Number : 85 Question Id : 68634019225 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one of the following caves is NOT located in Maharashtra?

1. Elephanta caves

[ )

. Ajanta caves
3. Ellora caves
4. Baba Pyara caves

Options :

68634075937. 1
68634075938. 2
68634075939. 3
68634075940. 4

Question Number : 85 Question Id : 68634019225 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e J Qo e HeR J UG el 8 2
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Options :



68634075937. 1
68634075938. 2
68634075939. 3
68634075940. 4

Question Number : 86 Question Id : 68634019226 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The PRASAD scheme was changed to "National Mission on Pilgrimage Rejuvenation and Spiritual Heritage
Augmentation Drive (PRASHAD)" in

1. October 2017

| )

. October 2019
3. October 2020

4, October 2022

Options :

68634075941. 1
68634075942. 2
68634075943. 3
68634075944, 4

Question Number : 86 Question Id : 68634019226 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YIS (PRASAD) UIGHI I "IPH d1amE Sided 3R sl dag SidMH (PRASHAD)" H
T ufvafda foar m

1. 3feRIER 2017
. 3faRIER 2019
: 313?‘@? 2020
4, SERIER 2022
Options :
68634075941. 1
68634075942. 2

68634075943. 3
68634075944. 4

| )

[#5]

Question Number : 87 Question Id : 68634019227 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



international airport registered maximum number of Foreign Tourist Arrivals (FTAs) in India 2021.

1. Mumbai

b2

. Delhi
3. Bangalore
4, Amritsar

Options :

68634075945. 1
68634075946. 2
68634075947. 3
68634075948. 4

Question Number : 87 Question Id : 68634019227 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YRA H S<RIPH BTy 373 UR 2021 H Halved faa=l wies s sl fdy 1y 2

1. g
2. fewt
3, STER

4. TR

Options :

68634075945. 1
68634075946. 2
68634075947. 3
68634075948. 4

Question Number : 88 Question Id : 68634019228 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: In the last five years the number of Foreign Tourist Arrivals (FTAs) in India has increased
consistently.

Reason R: In India air transport facilities have increased in last five years.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A.

[

. Both A and R are correct and R 18 NOT the correct explanation of A.
3. A 1s correct but R is not correct

4. A is not correct but R is correct.

Options :

68634075949. 1
68634075950. 2
68634075951. 3
68634075952. 4

Question Number : 88 Question Id : 68634019228 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i g1 YA AU T §: US SHIUDU (Assertion A) P &Y H ARG § ol gERT 39 BRI (Reason R) &
BY 4:

HfUFHYT A : 71q Ui a9 7 fa=h THes s 31 9= yRA ¥ FRR §g Wi € |
SRR : 7Td 9 a¥l § YRa ¥ a7 IRae & gausi S ge g |
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1. ATUTR &I 98l § dUTR. A &) Hol e 8

2. AGUTR GHI Hel &, dfch R, A & Ul oUReAT 81 o

3. AT R AP R TR

4, AEI TR S AT R WSl &

Options :

68634075949. 1
68634075950. 2
68634075951. 3
68634075952. 4

Question Number : 89 Question Id : 68634019229 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following tourist places from North to South :

A Gaya

B. Somnath
C. Tirupati
D. Hazartbal

Choose the correct answer from the options given below:
1.C,A,B.D
2D.AB.C
3 D.B.C.A
4. B, C, LA

Options :

68634075953. 1
68634075954. 2
68634075955. 3
68634075956. 4

Question Number : 89 Question Id : 68634019229 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrfaREd wien Rl @1 SR ¥ afém H # ouaffyd ST |

A Tl
B. 9IH1Y
c. faegdt
D. BoRdgd
= f&d U fawedl T Wel 3R &l 99+ &9 |
1E ACE.D
DA BIC
3.D,B,C.A
4.B.C.D.A
Options :
68634075953. 1
68634075954. 2

68634075955. 3
68634075956. 4

Question Number : 90 Question Id : 68634019230 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: Weather conditions at different tourist destinations are one of the important determinants of
tourists arrivals in India.

Statement IT: In India in 2021 the 2™ quarter of the calendar year constituted the peak quarter of foreign
tourist arrivals.
In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I 1s true but Statement II 1s false.
4. Statement I 15 false but Statement IT is true.
Options :
68634075957. 1
68634075958. 2

68634075959. 3
68634075960. 4

Question Number : 90 Question Id : 68634019230 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS PyTRTTUE:
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2. BYA 1 SR 11 ST ST §

3. B 1 T . AP S 11 A B

4. PYTI 3T S, afpT YT I 9d &

Options :

68634075957. 1
68634075958. 2
68634075959. 3
68634075960. 4

Question Number : 91 Question Id : 68634019231 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
(Tourist Destinations) (State)
A |Tampara lake I. |Gujarat
B. [Khajuraho 1I. |Andhra Pradesh
C. |Vadnagar II1. PMadhyva Pradesh
D. [Pulikat lake IV. [Odisha

Choose the correct answer from the options given below:

1. A-IV. B-III. C-1. D-II

[ ]

AL B-IV. C-11, D-1

L]

A-IL B-II1, C-IV, D-1
4. A-1. B-II. C-III. D-IV

Options :

68634075961. 1
68634075962. 2
68634075963. 3
68634075964. 4

Question Number : 91 Question Id : 68634019231 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey
T 1 T

(@ ®iw) QT
A [FHIRT S 1. ISR
B. [l IL. [SfY Hes
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1. A-TV. B-III. C-1. D-T1
2. AL B-IV. C-I1, D-I
3. A-IL B-IIL. C-IV. D-I
4. A-1. B-I1. C-11I. D-IV

Options :

68634075961. 1

68634075962. 2

68634075963. 3
68634075964. 4



Question Number : 92 Question Id : 68634019232 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Environment (Protection) Act was enacted in India in

1. 1986

[

. 1990
3.1996
4. 1997
Options :
68634075965. 1
68634075966. 2

68634075967. 3
68634075968. 4

Question Number : 92 Question Id : 68634019232 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR o gaiaRur TR&uT ST o I fean i ot |

1. 1986

|

. 1990
3. 1996
4, 1997

Options :

68634075965. 1
68634075966. 2
68634075967. 3
68634075968. 4

Question Number : 93 Question Id : 68634019233 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following works 1s NOT correctly matched with author?

1. Silent spring - Rachel Carson

[

. The Population Explosion - Thomas Malthus

L]

. The Population Bomb - Paul R. Ehrlich
4. Climate Justice - Mary Robmson

Options :

68634075969. 1
68634075970. 2
68634075971. 3
68634075972. 4

Question Number : 93 Question Id : 68634019233 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=1 T s ol &1 S ae® & 91y JHa9 o1 8 7
1. I5Tie AT - THd PRIA
2. & I U RIe - 410 HTedd
3. G UIYeleH 99 - Uid 3(R. geierd
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Options :

68634075969. 1
68634075970. 2
68634075971. 3
68634075972. 4

Question Number : 94 Question Id : 68634019234 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which one of the following 1s also known as the 'Club of Rome' Report?
1. Our Common Past and Future
2. Population Explosion
3. Limits to Growth

4. Silent Spring

Options :
68634075973. 1



68634075974. 2
68634075975. 3
68634075976. 4

Question Number : 94 Question Id : 68634019234 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634075973. 1

68634075974. 2

68634075975. 3
68634075976. 4

L]

e

Question Number : 95 Question Id : 68634019235 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Agenda 21, a comprehensive plan of action was adopted at the
1. World Summit on Sustainable Development, Johannesburg
2. Rio+2
3. Paris Conference on Climate Change
4. United Nations Conference on Environment and Development. Rio de Janerio, 1992
Options :
68634075977. 1
68634075978. 2

68634075979. 3
68634075980. 4

Question Number : 95 Question Id : 68634019235 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. df¥g® gad UNe Y fae grie. Sie-ae
2. R0
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4. GUIERUT SR fGeTH IR g AP grer. Ral St oA, 1992

Options :

68634075977. 1
68634075978. 2
68634075979. 3
68634075980. 4

Question Number : 96 Question Id : 68634019236 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Sustamable development depends on input of renewable energy resources.

Reason R: Huge deposits of coal ensure sustainability in India.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A.

b2

. Both A and R are correct and R is NOT the correct explanation of A.
3. A 1s correct but R is not correct.

4, A is not correct but R is correct.

Options :

68634075981. 1
68634075982. 2
68634075983. 3
68634075984. 4

Question Number : 96 Question Id : 68634019236 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 31 YA U T §: TP BT (Assertion A) B =0 H ARG & A1 IR IHD BRI (Reason R) B
¥UH:

fUBYT A : Tdd TS A Tl Sl guem & seH R R eRare |
PRUIR : DAY B (G209 F&89 YRd T yRufigar & gRfad #d € |
SWRIS DY & HTaiid 1, 1< 4y 7Y f[deedi T 9 9ad Sugdd SR &1 98- Bt |

1. ATUTR &I 98l § dUTR. A &) Hol e 8

2. AGUTR GHI Hel &, dfch R, A & Ul oUReAT 81 o

3. AT R AP R TR

4, AEI TR S AT R WSl &

Options :

68634075981. 1
68634075982. 2
68634075983. 3
68634075984. 4

Question Number : 97 Question Id : 68634019237 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following events in chronological order :

A. Montreal protocol

B. Koyto Protocol

C. United Nations Conference on the Human Environment
D. Basel convention (Movement of Hazardous Waste)

Choose the correct answer from the options given below:

1.C.A.D.B

| )

.C.D,B.A
3.C.B.A.D
4.D.C.AB

Options :

68634075985. 1
68634075986. 2
68634075987. 3
68634075988. 4

Question Number : 97 Question Id : 68634019237 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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.C,D.B. A
3.C.B.AD
4 D.C.A.B

Options :

68634075985. 1
68634075986. 2
68634075987. 3
68634075988. 4

Question Number : 98 Question Id : 68634019238 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Green Revolution strategy provides the base for sustainable development in India by establishing
food security.

Statement II: Social forestry is a program of sustainable development in India.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.

[

. Both Statement I and Statement I are incorrect.
3. Statement I is correct but Statement II is incorrect.

4. Statement I is incorrect but Statement II is correct.

Options :

68634075989. 1
68634075990. 2
68634075991. 3
68634075992. 4

Question Number : 98 Question Id : 68634019238 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634075989. 1
68634075990. 2
68634075991. 3
68634075992. 4

Question Number : 99 Question Id : 68634019239 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify correct statements about Millennium Development Goals.

A. The goals were time-bound with set quantified targets.

B. All goals were achieved by all member-countries.

C. Sub-Saharan African region achieved food security for the first time.

D. The achievements were not uniform across the world and across the goals.

Choose the correct answer from the options given below:

1. A. B and C only

[ ]

. A and D only
3.B. C and D only

4. B and D only

Options :

68634075993. 1
68634075994. 2
68634075995. 3
68634075996. 4

Question Number : 99 Question Id : 68634019239 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68634075993. 1

68634075994. 2

68634075995. 3
68634075996. 4

Question Number : 100 Question Id : 68634019240 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
{(Sustainable Development Goal No.) (Theme)
A |Goal l 1. |Affordable and clean energy
B. |Goald II. |Climate change
C. |Goal 7 IT1. [No Poverty
D. |Goal 13 IV. |Quality Education

Choose the correct answer from the options given below:
1. A-IIL B-I. C-IV, D-II
2. A-IV, B-III. C-I, D-II
3. A-TIL. B-IV. C-1. D-II
4. A-IV, B-III. C-II, D-I
Options :
68634075997. 1
68634075998. 2

68634075999. 3
68634076000. 4



Question Number : 100 Question Id : 68634019240 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-II1. B-1. C-IV. D-T1
2. A-IV. B-1I1. C-1, D-1I
3. AL B-IV. C-1. D-1I
4. A-TV. B-111. C-I1. D-I

Options :

68634075997. 1

68634075998. 2

68634075999. 3
68634076000. 4



